[Tpe3uamym c 6aHHEpOM

bannep (1 wt) — 500p/™M2 *(1*3)= 1500

Pa6ora auzaitnepa S00p

Txanb ¢pon — 3000

Cron —2500p

[Betsr 500p/m (2*500)=1000p
Ntoro:8500

Kosnonna ¢ ngeramu (1 mr) — 1800p

=3600p

LBetst Ha cToa (300p+500p)= 800p
HUroro: + 4400= 12900



SAVE THE DATY !
03,0620

CBeun - 500p
ByTeuiku — 8oop
boxkasnsl - 700p



Koumu 6ap

[epeBo 3000p

[lopku 3edompa 300p+CTOMMOCTb
Prsbyipa = 1500p

CkatepTb =

1000p




Ilekop KOTOHH

Jlnansbl (1*3) =
1000p




ady, . [NaBnunH
5000p

7P,




[ocTeBpIe CTOJIBI




